Application

LI N EAR G U I D E Applied to the precision feed of

small-size work piece and IC
+ TWIN ROD chip, precise press-in, and
position reversing in semi-
conductor, LCD manufacturing
process line, SMT line, etc.

PST-NS series
» Utility model application: 1
High Precision,
High Solidity
+ High power Application 1

Application 2

Cylinder Size: 76, 98, @12, 716, 220, ©25
Stroke: 5 ~150mm
Position Accuracy: £0.01 mm

226 www.protec21.co.kr




PROTEC

Cross Roller Guide Wide type

m L inear feed guide by the cross array of roller S"der GUIde StrUCture

bearings
® High-accuracy, High-solidity structure without
attach guide separately

m High-solidity structure by expanding the support
point of roller bearing in slider

m Reduced degree of swing with the drastic increase
of rolling moment

Wide
width

©

i (e,
High—-powered twin cylinder Positioning hole for the

m Double power than the typical type cylinder with repr(’duc'bl"ty Of InSta"atlon

2 cylinders arranged in parallel

m Positioning holes on Plate, Table and Block for
further reinstallation when installing/removing the

product
® 6 b ‘
. —‘ * 9 e T
Table
o o B
.@ @. b ?-' #  Block

Center Stopper structure Auto Switch for the

m Forward stage control stopper placed at the detecuon Of DOSItlon

center, utilizing side space
m Reducing crash moment of forward motion, it is mNo projection when mounting Auto Switches,
possible to make stable and precise linear motion seated internally

- -
. . : = s = ::’ I
: _ e {
w R h/'f—_: el
i © a '

.....

Auto Switch

PRECISION GUIDE CYLINDER 227



Please read it before use, with individual notes for each series as well, for your safe use.

A\ Individual notes for PST-NS Series @

& Caution

H Be careful to protect “V” groove from damage which
the cross roller is rubbed on slide rail and guide.

H Be careful to avoid any finger jam when cylinder is
in operation.

B Be careful not to cause scratch or shock on the
mounting surfaces of cylinder body, slide table, and
end plate.

Damage in mounting surfaces makes worse the flatness,

and cause work failure due to the increased swing of guide
unit and friction resistance.

H Install screw to the cylinder and tighten it to the
specified torque.

Otherwise, it may cause defect in working. Also, insufficient
screw tightening may cause dislocation or work pieces to
drop.

PST-NS Series various installation style

1. Using Cylinder body tap

Notes in installation

3. Using Cylinder body tap
L

-

—
i

®
o4

Bolt Specified tightening | Maximum screw
torque (kof - cm) length L (mm)

PST-06NS | M2.5x0.45 4.9 3.5
PST-08NS | M3x0.5 1 4
PST-12NS | M3x0.5 " 6
PST-16NS | M4x0.7 25 10
PST-20NS | M5x0.8 51 10
PST-25NS M6 X 1 81 10

4. Using plate front tap

L
— |
A4 M ®
H[¢ © E H| &
| | S
S Specified tightening
" Specified tightening |Maximum screw - torque (kof - cm) | length L {mm)

m torque (kaf - cm) | length L (mm) PST-06NS | M3x0.5 5.5

PST-06NS | M4x0.7 25 8 PST-08NS | M4x0.7 25 6

PST-08NS M4 x0.7 25 10 PST-12NS M5x%0.8 51 8

PST-12NS M5 % 0.8 51 15 PST-16NS M6 X 1 81 10

PST-16NS M6 X 1 81 15 PST-20NS M6 x 1 81 13

PST-20NS M6 X 1 81 20 PST-25NS | M8x1.25 157 15

PST-25NS | M8x1.25 157 25

2. Using Cylinder penetration hole

¢ &
@ ® | -

Specified tightening |Maximum screw
torque (kof -cm) | length L (mm)

5. Using table tap
_'%

Bolt Specified tightening | Maximum screw
torque (kof - cm) | length L (mm)

PST-06NS | M3xP0.5 10 PST-06NS | M3x0.5 11 3.5
PST-08NS | M3xP0.5 11.5 PST-08NS | M3x0.5 1 5
PST-12NS | M4xP0.7 16.5 PST-12NS | M4x0.7 25 55
PST-16NS | M5xP0.8 20.5 PST-16NS | M5x0.8 51 6
PST-20NS | M5xP0.8 24.5 PST-20NS | M5x0.8 51 M
PST-25NS | M6 xP1 30.5 PST-25NS M6 X 1 81 13

228 www.protec21.co.kr



Please read it before use, with individual notes for each series as well, for your safe use.

A\ Individual notes for PST-NS Series @

& Caution

Hl Do not exceed the specified load when selecting the
product.

Select model based on the specified maximum load factor
according to each Bore size. Otherwise, it may result in

A Caution

B Be careful of using in the place where vibration or
shock occurs frequently, it may cause a failure.

M Be care of corrosion resistance for the stability in
cross roller guide unit.

Be care of corrosion resistance in humid environment as
water drop can be created in guide unit and it can get
rusty in such environment.

B When used around heat source of high temperature,
product can be heated by radiant heat and cause
failure. Therefore, install protective covers to block
heat source.

l Do not use in the environment that can be affected
by foreign substances such as dust and chip, and
cutting oil.

It may cause vibration, increase of frictional resistance, and
air leakage. In such environment, please install appropriate
protective covers after the consultation with our company.

B When there are magnetic materials like steel plate
near the switch of cylinder, most likely they may
cause malfunction in the switch, therefore they need
to be designed and installed with sufficient clearance
from the surface of cylinder (maintain 10mm or more)

AN

== — =]

10mm or more

WD

Magnetic material ‘

B Always use stainless bolts when mounting auto
switch to cylinder in order to prevent switch
malfunction. If unavoidable, use commercial bolts
after removing the magnetic properties.

Bl When installing symmetrical cylinders, too much close
may lead to malfunction in the switch of cylinder.
Therefore keep sufficient clearance (maintain 10mm
or more).

Notes when
installing oa 5
symmetrical q P
cylinders
10mm or more

Notes in selection

distorted load of the guide unit, which may cause swing to
guide unit, deterioration, and adverse effects on cylinder life.

l Avoid excessive external force or shock.

Notes in operating environment and handling

M In the feed of Forward stage at low-speed of

100mm/sec or less of cylinder speed, connecting
meter-in speed controller to A port, and meter-out
speed controller to B port allow softer control in
constant speed.

Supplying air to forward stage A port during cylinder
operation at low-speed creates stick slip in the beginning
and makes cylinder control in constant speed more difficult.
Install appropriate speed controller for soft control.

B You can use various cylinder stroke-adjusting unit in
product installation.

Cylinder stopper unit can be diversified according to its
usage purpose into 3 types of different cushion devices.
1. Urethane stopper: generalized stroke adjust
(Allowable speed 50~500mm/sec)
2. Metal stopper: It may improve the precise control of
stroke, but doesn’t have cushion function,
so it is used only for light load and low-
speed. As it is special order item, please
contact us for further discussion. (speed
50~200mm/sec)
3. Shock Absorber: Soft stop by absorbing the shock at
the end of stroke

unit

Backward Stopper

PRECISION GUIDE CYLINDER 229



PRECISION GUIDE CYLINDER CROSS ROLLER GUIDE
PST—NS Series

® High-precision Linear Actuator integrated with Cross Roller Guide on top of
dual cylinder

m Fasy stroke control by positioning forward & backward stopper function at

the rear side

Positioning holes for attachment (3 places)

Diversity of installation (in 4 directions)

Suitable for assembling precision work pieces

Auto Switch for the detection of position can be attached

PSTO6NS -10-M-A2 S - ST  © Series
@ @ @ @ @ @ @ @, ® Bore size & Stroke(mm)
®@Name | Bore size(mm) ®Stroke(mm)
06NS 6 5,10,20,30,40,50
08NS 8 10,20,30,40,50,75
12NS 12 10,20,30,40,50,75,100
16NS 16 10,20,30,40,50,75,100,125
20NS 20 10,20,30,40,50,75,100,125,150
25NS 25 10,20,30,40,50,75,100,125,150
® Auto Switch type @ Symmetrical specification
Symbol Type Length |Applied cylinder Blank M
Al DSC PRO-A1 m Symmetrical
AlL (2-wire) 3m PST20NS
B1 PLC PRO-B1 m 25NS
B1L (3-wire) 3m
A2 DSC PRO-A2 m PSTO6NS
A2L (2-wire) 3m 08NS
B2 PLC PRO-B2 m 12NS
B2L (3-wire) 3m 16NS

® Auto Switch quantity [ Blank | 2ea
S Tea

@ Stroke adjusting stopper specification

Blank ST SHF SHB SH2
Forward Stopper Back & forward Stopper Forward Shock Backward Shock Back & forward Shock
(Urethane cushion) (Urethane cushion) Absorber Absorber Absorber

% Please refer P272~P273 for checking Shock absorber and backward stopper installation.

230 www.protec21.co.kr



B PST-NS Series PROTEC

Model PSTO6NS PSTO8NS PST12NS PST16NS PST20NS PST25NS
Bore size(mm) 6 8 12 16 20 25
Rod(mm) 3 4 6 8 10 12
Stroke(mm) 5~50 10 ~ 75 10 ~ 100 10 ~ 125 10 ~ 150 10 ~ 150
Theoretical thrust(kof) | Forward 0.57 xP 1.1%XP 2.26xP 4,02 xP 6.28 XP 9.82xP

Note 2) | Backward 0.42xP 0.75xP 1.70xP 3.02xP 4.71XP 7.56xP

Air port size M3 M5 M5 M5 M5 M5
Max. load(kgf) 0.6 1 2.4 43 6.7 10.7
Fluid Clean air Note 1)
Air_pressure(kgf/ i) 1.5 ~ 7 (General resistance pressure: 10.5) Note 3)
Lubrication No need (if need, use one sort of turbine oil: SPEC ISOVG 32)
Temperature(C) 5~ 60
Motion speed(mm/sec) 50 ~ 500
Motion type Double-acting type
Positioning Accuracy(mm) + 0.01
Stroke allowable tolerance in forward(mm) 0~ +1

Note 1) Clean air: Fresh air containing solid matters with 0.3% of supersaturated moisture and 99.9% of liauid oil that passed through the 3~10um degree of filtering
Note 2) P: Air pressurelkgf/cii)
Note 3) Guaranteed capacity of resist pressure: A pressure that does not cause an abnormality in parts when it is applied for 1 minute without any weight loaded.

Main body weight

Stroke(mm) | g 10 | 20 30 | 40 | 50 75 | 100 | 125 | 150
Model

PSTO6NS 007 | 008 | 011 | 012 | 017 | 019 - - - -
PST08NS - 016 | 017 | 02 | 025 | 03 | 043 - - -
PST12NS - 032 | 032 | 032 | 039 | 049 | 069 | 0.92 - -
PST16NS = 058 | 058 | 058 | 0.66 | 08 | 1.15 | 145 | 18 .
PST20NS = 099 | 099 | 099 | 115 | 129 | 17 | 224 | 279 | 335
PST25NS - 171 | 171 | 171 | 19 | 215 | 275 | 339 | 428 | 4.89

O

X

m

Forward direction <gmm mmpp- Backward direction 8

E o

— =

Unit : kof

Theoretical thrust

Model Overation direction | Pressuring dimension Air_pressure(kgf/ ) st
(refer to the figure) i 2 3 4 ) 6 7 STS-L

PSTOGNS Bashuard a1 e | or o om0

PSTOSNS ot 7 S Tow 3 X T

PSTINS G |10 |54 &1 |65 |85 iz | its

PSTIBNS S| 302|604 | 806 | o | 181 | 181 1

PST20NS Saward | 71| 9dp | 1| 165 | 235 | 22 | 3o

PST2SNS Saward |75 | 51 | 226 | s02 | 575 | 455 | s

PRECISION GUIDE CYLINDER 231



B PST-NS Series

Technical data by model

® Mp, My, Mr 3 directions moment calculation formula Fiol
Pitch Moment(Mp) Yawing Moment(My) Rolling Moment(Mr)
© © 0|
w( @= ceo—p \
W o o o — 'c A CIRRC
Ly | A+STROKE T ° °
] oL
o|l]e
! ® Mrc .:Pj @
| Myc .: °|p @ W Lo O@
Mpc .: ] ” b T
TW i © : © | Lr B
L Le B Ly _LJ
Mp = W x (A + STROKE + Lp) My = W x (A + STROKE + Ly) Mr=W x (C+ L
Mp =W x (B + Lp) My =W x (C + Ly Mr =W x (B + Lr)
* W Work weight(kgf)
m Corrections from the central distance of moments Unit : mm
WS A B c
Model™~_Stroke "5 10 20 | 30 | 40 50 75 | 100 | 125 | 150
PSTO6NS 22 19 19 19 25 28 - - - - 6 16
PSTO8NS - 23 21 21 26 30 42 - - - 8.5 20
PST12NS - 36 31 26 27 32 42 57 - - 9.5 23
PST16NS - 39 34 29 29 32 44 56 68 - 13.5 28
PST20NS - 44 39 34 34 37 44 57 72 86 17.5 34
PST25NS - 50 45 40 40 42 50 58 74 82 21.5 41
m Maximum allowable moment Unit : kof - em
Stroke | g 10 20 30 40 50 75 100 | 125 150
Model
Mp 2.39 2.39 3.58 3.58 5.38 5.97 - - - -
PSTO6NS My 2.39 2.39 3.58 3.58 5.38 5.97 - - - -
Mr 5.04 5.04 7.06 7.06 10 11.09 - - - -
Mp - 3.58 3.58 4.18 4,78 6.57 8.96 - - -
PSTO8NS My - 3.58 3.58 4.18 4,78 6.57 8.96 - - -
Mr - 8.73 8.73 9.98 11.2 14.9 19.9 - - -
Mp - 10.9 10.9 10.9 12.7 16.3 23.6 27.3 - -
PST12NS My - 10.9 10.9 10.9 12.7 16.3 23.6 27.3 - -
Mr - 26.3 26.3 26.3 30.1 37.6 52.7 60.2 - -
Mp - 14.5 14.5 14.5 14.5 16.3 23.6 32.7 40 -
PST16NS My - 14.5 14.5 14.5 14.5 16.3 23.6 32.7 40 -
Mr - 42.7 42.7 42.7 42.7 47.5 66.5 90.2 109 -
Mp - 33.2 33.2 33.2 33.2 39.8 53.1 79.7 86.4 93
PST20NS My - 33.2 33.2 33.2 33.2 39.8 53.1 79.7 86.4 93
Mr - 93.3 93.3 93.3 93.3 108.9 140 202 217 233
Mp - 59.6 59.6 59.6 74.5 89.4 104 134 178 208
PST25NS My - 59.6 59.6 59.6 74.5 89.4 104 134 178 208
Mr - 173 173 173 208 242 277 346 450 520

232 www.protec21.co.kr



® Maximum allowable Kinetic energy (Ea)

® Maximum allowable load (Wa) [Table4

PROTEC

Unit : kof * em Unit : kof
Allowable kinetic Stopper type Model Max. load
Model ENErOY [Urethane cushion [Shock Absorber PSTO6NS 0.6
PSTO6NS 0.12 - PSTO8BNS 1
PSTO8NS 0.19 0.5 PST12NS 2.4
PST12NS 0.63 0.9 PST16NS 4.3
PST16NS 1.2 1.8 PST20NS 6.7
PST20NS 1.8 3.4 PST25NS 10.7
PST25NS 2.2 4.7 % For vertical installation, load check is not required.

Model selection method

Condition check

Applied formula

Selection example

= Cylinder Model selection m Average speed
m Cushion type (urethane/absorber) m Loaded Weight
m Distance to the center of gravity in load

m Block installation m | oad installation
Horizontal installation Plate installation

Vertical installation Table installation

Review target: PST12NS-50
Table installation, horizontal use
Urethane cushion
Average speed:
V=300mm/sec
Loading factor W=0.5kgf

Lp1 = 30mm
Lp2 = 40mm
Ly, Lr = 20mm

Kinetic energy check

- The kinetic energy
of load should be
within the allowable
kinetic energy
range of cylinder.

Work kinetic energy(kaf « em) : E=K{x % x W

W : work weight(kgf)

V : average speed(mm/sec)

K, : installation factor(Table installation: 1, Plate installation: 1.6)
Ea : cylinder allowable kinetic energylkgf - cm)

Applicable only if E < Ea

Table3

.o 105 14300
E = x5 xg* (=T

Ea = 0.63 kof:cm
Available as E(0.45) < Ea(0.63)

= 0.45 kof: em

g Suitable loading factor(kgf) : Wt =K1 x Ko x W Wi = 1x1%0.5=05 kof
2. | 0, : Loading factor = % Wa = 554 kof
= O _
W work Weightlkaf) 0, = 5= 021 o
' | K, : installation factor(Table installation: 1, Plate installation: 1.6) ’ I?il
Q | K, : speed factor(300mm/sec or less: over 1, 300mm/sec: 1.6) o)
S | Wa: cyiinder Max. loadikgf) 7
Load factor Pitching moment(kgf-cm).: Mp = Wx (A+Stroke+Lp1) / 10 Mp = 0.5x% 32+158-30 - 2.6 kof-cn o)
check % Rolling moment(kgf  cm) : Mr = WX (C+Lr) / |\/|10 ) e
Londng fac S| 8, : pitching Static moment load factor = pr; 0, = 16.3 0.16
- Loading factor (23+20)
4 3 = = .
) Et:gcfagzr:went g 85 : rolling Static moment load factor = ,\')]Ar; Mr = 0.5%=75 2.15 kof - e
- Dynamic g A.C : corrections from the center distance of moments(mm) 03 = % = 0.06
moment load | Lp, Lr : distance from the end of table to the center of loadmm) [Fig1 :
factor Mpa, Mra : cylinder allowable moment(kof * cm) Table2 —STS-L
- Total sum of o . . _ _
eyl Pltchlng moment(kgf cm).- Mp = K2x KsxWx(B+Lp2) / 10 Mp = 1x1x0.5X% 1%1: 9.5 kaf- e sD
S g o | yawing moment(kof - em) : My = K2X KsxWx(C+Ly) / 10 0 ET.
< _ 2.0 _
szt 3 | 04 : pitching dynamic moment load factor = VMD% 0. = 4g5= 016 —
3 - (23+20) _ _
© | 65 : yawing dynamic moment load factor = MMVIE My = 1x1x0.5x =57 = 2.15 kof - em
3 2.15
0 = &2 =
S K, : speed factor300mm/sec or less: over 1,300mm/sec: 1.6) ®~16.3 0.13
® | K, : duty factor(Urethane stopper: 1, shock absorber: 0.25)
= | BC: corrections from the center distance of moments(mm)
Lp, Ly : distance from the end of table to the center of load(mm [Fio1]
Mpa, Mya : cylinder allowable moment(kgf - cm) Table2

Total load factor

0t=01+02+03+04+05§1

0t =021 +0.16 + 0.06 + 0.16 + 0.13 = 0.72 < 1
PST12NS-50 is applicable

Note1) Static moment load factor: moment created by the gravity of work

Dynamic moment load factor: moment created when the work is stopped by stopper

PRECISION GUIDE CYLINDER 233



® PST-NS Series

Table deflection

m The graph represents the deflection if any static load is
applied at the end of table when moved forward as much

as the corresponding stroke.

m The deflections below mentioned are only for a reference.

(Please note that they are NOT maximum value).

¢ PSTO6NS

£ PSTOBNS-50 |PSTOBNS-40 PSTOBNS-30
£ o PSITOBNS-5{10,20
c

[0}

&

¢ 001

ks

[e}

@2

a

w 0 1 2 3

W weight (Kof)

¢ PST12NS

— o0 PET12NS-100

E .

PST12NSH
£ 08 ST12NSH5
€
g 0.06 | PST12NS-50
$ 004 PSTA2NS-30,40
S o2 T - PST12NS-10,20
g~ —

2

o O 2 4 6 8 10

W weight (Kgf)
& PST20NS
PST20NS-150

€ 015 PSTZ0NS-125

£ 012

£ 009 PST20NS-100
£ PST20NS-7
g 006 — — PST20NS 5
£ oo —
2 Zéé”mﬁms—mo

o 0 6 12 18 24

234 www.protec21.co.kr

W weight (Kgf)

‘W

W weight (Kgf)

«° L
L]
Stroke
¢ PSTO8NS
~ 00 / PSTOBNS-75 | PSTOBNS-5
g 0'04 / _~PST08NS-40
= PSTOBNS-3
2 003 / PSTOBNG 2
5 000 PSTOBNS-1
£ Lo / =
2 ==
o 2 4 6 8
W weight (Kgf)
¢ PST16NS
. PST16NS-125
g 0.15
= 0.12 | PST16NS-100
@ 0.09 FPSTTENS-75
aE> 0.06 _— PST16NS-50
§ 003 — PI§;I\-‘1161’“\IASIC-‘4JO 30
g ‘ — PSTIBNS-10
w 0 4 8 12 16
W weight (Kgf)
& PST25NS
883 PET25NS-150
= Y PST25NS-125 _~ PST25NS-100
E 007 /
= 88?) 7/ PST25NS-75
2 0.04 / — pStosNed0
S 0.03 / RST25NS-30
§ 0:02 / ﬁ — | PST25NS-10,20
a
o 0 10 20 30 40



PSTO6NS-05

PROTEC

LX) (08NS [12NS] [ 16NS | [20NS ] [25NS]

. JOIOIOIOIO)

2-M2.5xP0.45 DP3

2-M3xP0.5 DP6

20 6 2-M4xP0.7 thru
+0.02 |
930 DP25 = —
A4 A4 [T}
—_ — = & Sle
S
15 |6 4] g,
15 |11 o
14 10 2-M3 (AR PORT)
4.5
on
|
Blel ¢ #1—=
9 5 & =
o]
2x2-M3xP0.5 DP5 719

—\‘ﬂ
. @é@—
e |57
N
)
A\ﬁ.¢.d7\
2-938%pP3 /| 14
145

18

18

18
8 20 4—M3XPO.5 DP3.5 5.5 3
<t
40| < i (S
Vo WA= = TR Y AR
®B—th—'= 3
o @Im) \ 4-M2.5xP0.45 DP3.5
15/] 14
"6 Dp2.5
2903 ' M5xP0.8 (STOPPER)
0 MAX: 10
D &
& & &
——— m] §| &
55
36.5
23

%0nly bottom TAP(M4) available for body installation

PSTO6NS-05-Auto Switch

PRO-A2, PRO-B2

PRECISION GUIDE CYLINDER 235

o
)
m
)
(2]
@)
=

STS-L

PSW



®» PST-NS Series

KX [ooNs] [12Ns] [16Ns] [20Ns] [25Ns]

O] - JOIOIOIO)

PSTO6NS-10

2-M4 x P0.7 thru

% 6
+0.02
; H—==——A
93° DP25 | =g
[N ﬁ(g
> @
1.5 ||6] KX
20 |11 N%
o
2-M2.5x P0.45 DP3 14 10 2-M3 (AR PORT)
- a5 ‘
I
T; & %‘// ©
0 I -
2x2-M3xP0.5 DP5 / | 7] 11
10 23
| 2-M3xP0.5 DP6 =7+ 4-M3xP05 DP35 5.5 r{r
te i ! !
g ks Do 4 | = ¢§ =
Q S T AN = = R A A
A = w0 v§\
+002 mn @ 79 $@ I QR \4-M2.5x P0.45 DP3.5
2-93 DP3 / 1 105 /1155
] 2-93'0"ppP25
M5x P0.8 (STOPPER)
47 MAX: 10
0 P Y -
e I e — of & &
5.5
415
48

%0nly bottom TAP(M4) available for body installation

PSTO6NS-10-Auto Switch

PRO-B2

236 www.protec21.co.kr



PSTO6NS-20

PROTEC

LX) (08NS [12NS] [ 16NS | [20NS ] [25NS]

O] - JOIOIO)

2-M4 x P0.7 thru

35 6
930 DP25
—6———¢1P
S —————F o
>
~1 15 6] ] 4 &
20 | 2 | B
"o
2-M2.5xP0.45 DP3 14 10
45
« |
Y
bR L
3 26 =
2x2-M3x P05 DP5 /111

25 +0.02

2-930"ppP3

2-M3 (AR PORT)

23
55 8.9
10 2-M3xP0.5 DP6 | 11 30 4-M3xP0.5 DP3.5 3 =
\ < - M4 x P0.7
D 6]
& |. oo & 4O | o (. s
I=g S - |7 Var N = MR N Al o T}
@ — H w W/ #_l o Wéﬁ s T
™
hd | %@)@ Qe | @A) \ 4-M2.5x P0.45 DP3.5 o
14 Y 30
14.5 2-930"DP25
M5 x P0.8 (STOPPER)
57 MAX: 10
& QQ ¢o
e of 3| |
5.5
515
58

PRO-A2, PRO-B2

PRECISION GUIDE CYLINDER 237

o
)
m
)
(2]
@)
=

STS-L

PSW



®» PST-NS Series

PSTO6NS-30

KX [ooNs] [12Ns] [16Ns] [20Ns] [25Ns]

OJOIO] - JOIO

20 20 11 3-M4xP0.7 thru
+0.02
$3 0 DP2.5 /]
—o— o & ;
[ ——— ﬁ(m
| By -
-1 15 6] I a S
T2 31 &
oo
2-M2.5xP0.45 DP3 14 7. 2-M3 (AIR PORT)
- |45
\
e & & ©
i1 ®
12 5 % =

2x2-M3xP0.5 DP5/ | 7

25 £0.02

2-930%ppP3

5 8.9
6-M3XP05 DP35 55 3 -
10 2-M3xP0.5 DP6 |1l |20 20 T
0 - M x PO.7
N TI <l ¢ -
@ ‘ © DB @‘9 @ {f@ 9 WB'V S : @;y
|3 ® B — @) — @t oral—— S ]
o ‘ ©—0©——© @ 5) s Eﬁ}
_ o
A P G670 ° 0 @) \4-M2.5x P0.45 DP3.5 iriar] IR
14 17 20 20
145 2-930"DP25
M5xP0.8 (STOPPER)
67 MAX:10
3o
'S F:3 E-3
2 EYRARS
5.5 61.5
68

238 www.protec21.co.kr

PRO-A2, PRO-B2




PROTEC
LX) (08NS [12NS] [ 16NS | [20NS ] [25NS]

OJOIOION - 1O

PSTO6NS-40

30 30 13 3-M4xP0.7 thru
23 '%DP25
e =——— —1
¢ 77%77¢,, Nl _
— 1 — S ee— - g
| % ‘
b 15 6] 14 2
30 43 &
o
2-M2.5xP0.45 DP3 14 17
0 2-M3(AIR PORT)
X
=NES o« |
2 5 =
2x2-M3x P0.5 DP5 7|20

10 2-M3xP05 DP6 |11 28 28 6-M3xP0O5 DP35 55 3 89
\ R . M4 x P0.7
(en. 4
8 = © & @ 49@ @9/ @ I ﬂ ¢§ o~ g @-{P
# Z N - A @A = = B N A © 7
9 = © © @ ) S S
¢ Tre o o & i { Eﬁﬁgﬂé 5
2-030"pp3 /|14 17 30 4-M2.5xP0.45 DP3.5
14,5 +002
2-937 DP25 M5x P0.8 (STOPPER)
89 MAX: 10
© & & 6$ Q &
S WV a3 |
5.5 83.5
90

o
)
m
)
(2]
@)
=

PSTO6NS-40-Auto Switch

STS-L
SD
PSW
& & 9 & -3 - L
— —

\ PRO-A2, PRO-B2

PRECISION GUIDE CYLINDER 239



®» PST-NS Series

KX [ooNs] [12Ns] [16Ns] [20Ns] [25Ns]

OIOIOIOLO] -

PSTO6NS-50

24 24 24 17 4-M4XP0.7 thru
30°pP2s
$3° DP25 | f—tp——F— P
& ) & &—P
sEe=————— —— S
| % : .
~f 15 ||6] _lle 3
48 | 41 &
o
2-M2.5x P0.45 DP3 14 2-M3(AIR PORT)
I 2 —
| T
=M o ©
2 | 5 0 =
2%2-M3x P0.5 DP5 702
18
10, 2-M3xP0.5 DP6 | 11 38 38 6-M3x P05 DP3.5 5.5 3 8.9
: \ \ < - M4 x P0.7
[ ey |2 o0 Qo @ IO | o S o s [ELP
::3 Z N v o) 7\ (A) Y7\ 7Y N 7% I ) Y
Q - @ @© @ & R § s LA
53 69 3 &)6 =
e £ 079 8] \ 4-m2.5x Po.45 pP35 IRl S
2-93°0 DP3 14 17 24 24
+0.02
145 2-830 DP2.5
M5 x P0.8 (STOPPER)
105 MAX: 10
|
5,0
x = = = YA
7777777777 :I S
5.5 99.5
106
PSTO6NS-50-Auto Switch
PRO-A2, PRO-B2

240 www.protec21.co.kr



PROTEC

|06NS | [EIEY |12Ns] [ 16NS | [20NS ] [25NS]

L JOIOIOIOIO

PSTO8NS-10

2-M4xP0.7 DP6

28 9 2-M4xP0.7 thru
e —
H————— ©] o
— N
|
2 ||7] Il 4 3
930" DP25 0 | 7] &£
o
2-M3xP0.5 DP4.5 155 2-M5 (AR PORT)
5 0
< . 0
—H TN f\,
mil DY ©
‘:g /E) D S
2x2-M3xP0.5 DP5 /169 11
12 5 530%pp3 25 4-M3XP0.5 DP5 6.2 3.2 10.8
‘ 2. 25 M4 x P0.7
» 1 { @ RYPY B 2 ]
=}
@ 4t o| @ 4 65 ) a
| ol® o @ M 2 A w e
L I~ ) SR o
- o :
2 N ﬁ ™
79 9 R \ 4-M3xP0.5 DP4 IR =
_la 19 [ 27
17.5 +0.02,
2-93% DF’3; M6 xP1 (STOPPER)
55 i MAX: 10
o o o0%%
D of of| N
iiiiii Rk
6 48.5
56

PRO-A2, PRO-B2

PRECISION GUIDE CYLINDER 241

o
)
m
)
(2]
@)
=

STS-L

PSW



®» PST-NS Series

PSTO8NS-20

2-M4xP0.7 DP6

[o6ns ] XX [12Ns] [16Ns] [20Ns] [25Ns]

O - JOIOIOI®

30 12 2-M4xP0.7 thru
+0.02
230 DP25 i ——
o ——¢
————— 2o
= % ‘ ~
b2 ]]7] s ] 2
30 12 N%
=
2-M3xP0.5 DP4.5 15.5 g 2-M5 (AR PORT)
5. . — )
< ﬂ‘* w
B 7
— g @ ¢
3 ?¢ B ©|

+0.02
12 2-93° DP3

)
2x2-M3xP0.5 DP5

25

~ 16513

12

4-M3xP0.5 DP5 6.2 3.2

25

s & @

30 |
20

16 H0.02

23

©—©—
g9 * @

Lo

9]
—

40

[ee]
(S

86.5

10.8

M4 x P0.7

o
N

D 5T\ 1+
%@}Wﬁ —

L 19 /30
17.5 2-83"3%DP3 M6xP1 (STOPPER)
60 MAX:10
{
0 o o &% |
N af o3| X
———— 3|2
6 53.5
61
PRO-A2, PRO-B2

242 www.protec21.co.kr

4-M3xP0.5 DP4

?3.3




PROTEC

|06NS | [EIEY |12Ns] [ 16NS | [20NS ] [25NS]
O O,

PSTO8NS-30

20 20 13 3-M4xPO.7 thru
+0.02 [T
8370 DP25 [FI—t——1—
—o————¢—
-] 2 o
- X & o
2 J|zl|  _alll 2
20 33 5
o
15.5 o 2M5 (AR PORT)
55 | ‘ 10
<« ] 0
=il & fosd
< bidhs <
2-MBXPOS DPAS /7 o oo s ops /16813
2-M4xP0.7 DP6 ' %
_M4xPO. 12 2638 pp3 5 " 4-M3xP0.5 DP5 62 32 108
‘ M4 x P0.7
: - pYpY T 10 —
b g o @ £{ @ Il ANg g
@ T 1o N ér ﬁ
: IR ) @-—@©——© P+ 55 2 =
@ o 7 © *b | © @ -
MR @lal \ 4-m3x P05 DP4 el =
e 1 J 20 | 2
17.5 2-93'1%DP3 M6x P1 (STOPPER)
71 [ MAX: 10
0 ® o %o | N
& of &|
77777 Sl =
°)
6 64.5 I_:Igl
72 o
72
@)
P
STS-L
SD
PSW
PRO-A2, PRO-B2

PRECISION GUIDE CYLINDER 243



®» PST-NS Series

[o6ns ] XX [12Ns] [16Ns] [20Ns] [25Ns]
@@ ®@®

PSTO8NS-40

28 28 15 3-M4xP0.7 thru
+0.02 [— ]
$3 0 DP25 [[I—/—I—
e o S e
|| - ] 9 =~
— ) &
2 ||7] 4 1]l g
28 43 =)
%
15.5 9 2-M5 (AIR PORT)
< 25 e
4‘ [Te}
N
e @ 4
& e <

2-M3xP0.5 DP4.5

2x2-M3xP0.5 DP5 /6.5 18

2-MaXPOTDP6 12 2.43% pP3 1225 50 4-M3xP05 DPS ¢, 3.2 10.8
‘ ™ M4xP0.7
b B} f @ @4 ® P2 = e QJ_‘
@8 o Dl = o
! = & O—@ @ P =< R < =
G omll 170 [ e 0| D 2
@le] \ 4-M3x P05 DP4 flal =
L 19 28 28
17.5 2-93'3"DP3 M6 x P1 (STOPPER)
89 MAX:10
i
1
3 [9) [©) $$@ i — o~ §
N N 4; ﬁ ]
6 82.5
90

244 www.protec21.co.kr



PROTEC

|06NS | [EIEY |12Ns] [ 16NS | [20NS ] [25NS]
O®

PSTO8NS-50

4-M4xP0.7 thru 23 B 2B 2
63" pp2s MESE—d—— 1 ——1——
— [ —o———o¢——o¢—
He— ol g
"l b & N
27 4 =
2]l 26 X 3 &
o
15.5 16 M5 (AR PORT)
ﬂ_ o ‘ o)
< j | Lo
Sieks &
8 e ©
2-M3xP0.5 DP45 /' 2x2-M3xP0.5 DP5 6.5| 23
1 ‘00 25
2-M4P07 DPs =y 22937 DPS ' 38 38 6-M3xPO5 DP5 62 32 108
‘ ‘ M4 x P0.7
3 ' / oo g (e
&4 _|= © +6 ©+0 &l - 18 (kA
o o 0
o SR s O 5 2 {
+ o
& 1+ @ 0| ® 10 | R ﬁﬂ% 2
&
L (i \ 4-m3xPo5 DP4 | =
4 19 / 23 23 23
17.5 2-93'4"DP3 M6xP1 (STOPPER)
107 MAX: 10
|
" o o o%% o
N — NER
6 1005
108

o
)
m
)
(2]
@)
=

PSTO8NS-50-Auto Switch

STS-L

PSW

hea 9 &ﬁ

 me——m
\ PRO-A2, PRO-B2

PRECISION GUIDE CYLINDER 245



®» PST-NS Series

[o6ns ] XX [12Ns] [16Ns] [20Ns] [25Ns]
®

PSTO8NS-75

5-M4 x P0.7 thru 28 28 28 28 27
+0.02
83’0 DP25 | I
_— 4—J\A*77 ) I R R
o © rY ) F:)
N
o9 HE,— —— ——— e e ——
- % &
-l 2 ]|7] Al g
ND
56 So| 83
on
15.5
5.5 2-M5 (AR PORT) 23 o 10.8
ST o M4 x P0.7
Tm @ ~5 ol ( Q%
16D 1SS
g L ) @ {
2-M3xP0.5 DP4.5 b5 5 Dl o
2x2-M3xP0.5 DP5 /% il =
50
1 o 12 50 50 6-M3x P0.5 DP5 6.2 3.2
2-M4 xP0.7 DP6 ‘T 2-93° DP3 ‘
T N
% ®@ © o o (.
g o =] —
O Hletls [FO—0—© 0 & 3 ° @
— & S o gl
@D » M i ® °© ® « | \ 4-M3x P05 DP4
) 19 28 28 28 28
4. 2-939%DP3 M6xP1 (STOPPER)
17.5 157 MAX: 10
[
e 1
7o) © [c] © )
| W0F————— R o 8
6 150.5
158

PRO-A2, PRO-B2

246 www.protec21.co.kr




PROTEC

|06Ns | |08NS | EEREY [ 16NS | [20NS ) [25NS]

PST12NS-10,20,30

2-M5x P0.8 DP10

o J 0 X JOIOIOID)

40 15
Ie)
0 4'8"DP3.5 o
RN [m)
N ¥}777$7%;B %O
Q| m ~
~
- 2 s ] 5
40 15
2-M3xP0.5 DP5 20

o 2-M5 (AR PORT)
6 -
< 1« [» ;
S o ——d|
E3 &
85| |14
2x2-M4x P0.7 DP6
2-94"1"DP4 28 o
16 16 |35 4-M4x P0.7 DP5.5 -
[ |
g ™ ©©¢ S & m( L).a Vant .
H co| N sV L W) e
ol ™M 0 17N 77N & o
~ RN N O s
§% g @ 1\ 4-M3% P0.5 DP6
2-M5xP0.8 DP8 L 25 40 |
23 2- 9 4°02DP35 M8x Pl (STOPPER)
79 MAX: 10
|
0 o o 9%y
N = Lf’.l EIRY
}7:::::: : N
8 70
80

PST12NS-10,20,30-Auto Switch

PRO-A2, PRO-B2

PRECISION GUIDE CYLINDER 247

$8.5

15
M5 x P0.8

flla

) \

oS
e =
<t
d 2

o
)
m
)
(2]
@)
=

STS-L

PSW



®» PST-NS Series

[o6ns] [osns] EEIRY [16Ns] [20N] [25Ns]

OIOIO) - JOIOID)

| PSTI2NS40

3-M5x P0.8 DP10 25 25 17

04707 DP3 5 “
&
i a
»——o———o—17 o
QIS N ~
| N
-1 2 |8 | 5
25 42
20
2-M3xP0.5 DPS 10 2-M5(AIR PORT)
< ﬁk
o 11 _ o
= F¢ O— @/
| w29
2x2-MAXP0.7 DP6 |/ 8522

2-94't" D4 28 4-M4 x P0.7 DP5.5 10 4 15
16 16 50 o 1
] “ | M5xP08
o [ee)
g\g T e ® 63 6| o Vo - 2
ST | N S\ N 9
_ [s0] 0 ©o & [ex) [ =
N N < 1Y | @
D 4> N
pd PN ‘9
L© v e |0° @ £\ 4-M3xP0.5 DP6 ﬁ.m s
2-M5x P0.8 DP8 5 R 204 B 0 2
23 2340 DP35 M8 x P (STOPPER)
91 MAX: 10
0 o 6990, .
Q| Heeeeee—e—e——= m(m‘ &
= ——— ~| N
8 82
9

PST12NS-40-Auto Switch

PRO-A2, PRO-B2

248 www.protec21.co.kr



PROTEC
|06Ns | |08NS | EEREY [ 16NS | [20NS ) [25NS]

OIOIOIOL - JOIO)

| PSTI2NS50

3-M5x P0.8 DP10 36 % 15
0.02 [Te)
?4'8°DP35 Y 3
- \ a
I ———
Q| m ~
<
—1 28] Il 5
36 51
2-M3x P05 DP5  -20, 2-M5 (AR PORT)
6 0
< j* [»
= L — i
- &
e
2x2-M4xP0.7 DPe /22 1. 22
+002 25
2-04°3% Dpa 10 4 15
—\(& 6 | 35 35 6-M4 x P0.7 DP5.5 i o ek Pos
]
[oe]
A 9 ® o © 4 & 0 > {%} o s &l%a,(
2 +IO 3 o ‘,F) © & —&] [s)] % T
~ N E: < 2 IS @-l ~
A e * e ¢ @ &1 \ 4-M3xP0.5 DP6 ﬁ_@ﬁ_ s
£ _4-M3XP0.5 DP6
2-M5xP0.8 0P8 /| | 25/] 36
- +0.02
23 2-043"DP35 | M8 X P1 (STOPPER)
111 MAX: 10
|
0 + s 90 o IO —
PSR S ——— of S| &
—_ = ~N| N
8| 102 g
112 m
O
1%2)
o
=
PST12NS-50-Auto Switch
STS-L
SD
PRO-A?, PRO-B2 PSW
4 4 s [
f AV /4 ]
] N

PRECISION GUIDE CYLINDER 249



®» PST-NS Series

[o6ns] [osns] EEIRY [16Ns] [20N] [25Ns]

@ ®®® @ w

| PSTI2NS75

4-M5x P0.8 DP10 36 36 36 25
3]
|| 2
A3 (=)
e i I
Q gl N b
—1 28]\ sat?pp3s Aﬁ‘i
72 61
2-M3xP0.5 DP5 20
: ‘ 2-M5 (AR PORT) 40
< —
L
2 S— S S— —
§-
oF—249
2x2-M4xP0.7 DP6 /83 49
29475 Pt 2 6-M4x P0.7 DP5.5 10 4 15
16 16 55 55 7 DR, . —
m~—> o I M5 % P0.8
&t s ® o6 64d o Pan 2 §l
D HO 3 & = & 4 _a]i bt P < 169(
~ X @ g :&K Y ‘IL N
&2 > & | % @ o 4 2] <
N P 4-M3x P0.5 DP6 s
2-M5P08 DP8 5
|23 2-94°6"” DP3.5 M8xP1 (STOPPER)
157 MAX: 10
9 » o by + .
R eYe———— of G| &
- : N
8 148
158
PST12NS-75-Auto Switch
PRO-A2, PRO-B2
% + + » B
| I— ﬁ }
71 —— ﬁs 777777 77

250 www.protec21.co.kr



PROTEC

|06Ns | |08NS | EEREY [ 16NS | [20NS ) [25NS]

OIOIOIOIOIO)

| PSTI2NS-100

5-M5x P0.8 DP10 38 38 38 38 35
0
o
o
I~ [
$»———————o———o——— &
Q < = <
RS
+0.02
~1 2 [|s[[\ 04%"op3s 5
76 111
2-M3x P0.5 DP5 20
. 6 2-M5 (AR PORT) 51 15
M5 x P0.8
=i Ho—————————— R — z p e
2 - 2| [Ey
- & & o 1
IS =
N
2%2-M4xP0.7 DP6 /82 73 §@| 3
2-94"0" DP4 50 10
16 16 65 65 6-M4 x P0.7 DP5.5 4 .
R E o &—o Go © PN ® 9 Dan ! EED
N R oo| N 24 [/ —
— S & Q % &
® ) O | 6% @ * o ® 4-M3x P0.5 DP6
.
2-M5XPO.8 DP8 5 25 38 38 38 38
23 2-24°§”DP3.5 M8 x P1 (STOPPER)
211 MAX: 10
|
0 & o & < s
C(Q iiiiiiiiiiiiiiiiii [To} H¥o] %
8 202 o
o)
212 m
o
72
(®)
P
PST12NS-100-Auto Switch
STS-L
PRO-A2, PRO-B2 SD
PSW
e P ¢ ¢ B
- }
CH e |

PRECISION GUIDE CYLINDER 251



®» PST-NS Series

[06Ns] [oss] [12ns] EEXRY [20Ns] [25Ns]

o 1 X JOIOIOIOIC)

PST16NS-10,20,30

40 16 2-M6 X P1 DP12

[ i \,
o9 o
-l [ &
. t
2-05%%ps | /3]]] 10
30| 38
2-M4x P0.7 DP6 N 8  2-M5 (AR PORT)
8
< j*
= Iﬂ B iz =
= &b
AGR NS |
\w  2X2-M5xPO.8 DP7 10\ [ 125 ©
g 2-¢50 DP4 40 “0
2MBPLDPI0 o3 2-95 0" pP 14 4 =2
5 © M6 X P1
AN| o
o o & 0 o sls gt@
3 I 8 ]
240 © @ 4-M4xP0.7 DP10 ﬁ <
31 | 40
4-M5xP0.8 DP8
M10x Pl (STOPPER)
86 MAX:10
|
I 7
~ . o ®O0 N
NI
10
75
87

PST16NS-10,20,30-Auto Switch

PRO-A2, PRO-B2

252 www.protec21.co.kr



PROTEC
|06NS | 08NS [12Ns| [EEEY |20NS ) [25NS]

OIOIO] - JOIOIDIC)

PST16NS-40

50 16 2-M6 x P1 DP12

Brers o
o <
~ B ©
£0.02 * 3 1 ‘ 10
2-950 DP4 10 ”
2-M4x P0.7 DP6 §2—4» 10  2-M5 (AR PORT)
N [-
]
=TIl =
= S Y
£ §a ]
2x2-M5xP0.8 DP7_10 125 ©
2-950 DP4 = 2-950" DP4 14
2-MEXP1 DP10 N a0 4 19
© M6 X P1
o
+o¥e &| o 2 s Qﬁ@
& @ © 8 = = ]
IS
1o © ﬁéz =
4-M4 x P0.7 DP10 s
4-M5xP0.8 DP8 1~ 31 50

M10x P1 (STOPPER)

96 | MAX: 10
- o 4 Q‘éﬁ
10 g5
97 o]
X
m
O
122)
o
=
PST16NS-40-Auto Switch
STS-L
PRO-A2, PRO-B2 SD—
PSW
L ¢+ 4 E
“:&E&‘
i ~

PRECISION GUIDE CYLINDER 253



®» PST-NS Series

[06Ns] [oss] [12ns] EEXRY [20Ns] [25Ns]

) @ @ @ @ ) W @)

30 30 21 3-M6xPl DPI2
i N in) \, 'h
£
~| [ &
2 ¢5+907DP4f 3 l ‘ 10
- 50 43
24
2-M4 x P0.7 DP6 ] 10 2-M5 (AIR PORT)
< _
LN
= =
n
i |
2x2-M5xP0.8 DP7 /10| |175] 2
+0.02 44 19
2-M6xP1 DP10 2-05° DP4 50" 1 4 =
20 21 30 ‘ 30 2-95° DP4 © M6 X P1
NS
‘ek 06 @] o« | S| s gt‘@
= Irs) Nals — 1
= 8 0@ 8 | E}
o e —
4 21090 9 ¢ (@ 4-M4xP0.7 DP10 § fa] 0
31| 30 | 30
.L135  5-M5xP0.8 DP8
29 M10XP1 (STOPPER)
111 ‘ MAX:10
jm Id
~ S s o, H ~lo
« C\lt ol
AN M
10 100
112
PST16NS-50-Auto Switch
PRO-A2, PRO-B2
L %) $ + B;H
| —— )
[ 1
I ™~

254 www.protec21.co.kr




PROTEC

|06NS | 08NS [12Ns| [EEEY |20NS ) [25NS]

OIOIOIOION - JOIC)

3% 35 35 2% 4-M6xPl DP12
N N m |
o ¢ 99—
ﬁL B &
+002 * 3 l ‘ 10
2-95 0 DP4 75 68
2-M4xP0.7 DP6 25 2-M5 (AR PORT)
\|8 33
< \*
< jidl 7 =
- lo]
y.. n =Y
Z 5]
2X2-M5xP0.8 DP7 10 425 3
Lo 50 2-8570% DP4
2-M6xP1 DP10 2-85° DP4
20 - 55 4 4 19
‘ ‘ ‘ © oo M6 x P1
s J06 O 60| o 251 si=| Rl
= \als/ —
O——0—0—8& 3 ]
o—oge B ¢ 0O 4-M4xP0.7 DP10 g]fﬁ E
31| 35 | 3
29 6-M5x P0.8 DP8 M10x Pl (STOPPER)
161 MAX: 10
|
~ S O o E ~
™ Nl PRg s
N
10
150
162

PST16NS-75-Auto Switch

PRO-A2, PRO-B2

PRECISION GUIDE CYLINDER 255

o
)
m
)
(2]
@)
=

STS-L

PSW



®» PST-NS Series

PST16NS-100

[06Ns] [oss] [12ns] EEXRY [20Ns] [25Ns]

OIOIOIOIOIO) JC)

M6 x P1

3% 35 35 35 39
H
P — —& -
'—41 5 N
1002 ﬁ ‘ ‘ 10 5-M6 x P1 DP12
2350 DP4 100 01 —
24
2-MAXP0.7 DP6 2% 2_M5 (AR PORT)
8 57
s N
= i : =
— 5]
2% 2-M5x P0.8 DP7 /10 65.5 .
255 %0p 50 2-65'0% P4
2-MBP1 DPI0 5 2= . o1
65 65
© =
/O o & @ O o >t NS
8 M9 06 6 3 '3 )
2o oo 29| & 4-M4xP0.7 DP10
31| 35| 35| 35| 3
6-M5x P0.8 DP8
.29 M10xP1 (STOPPER)
209 MAX :10
\
~ R R éé‘ Ra D N o
e m1m' <
[S\E N2
10 198
210
PST16NS-100-Auto Switch
PRO-A?, PRO-B?
. 4+ 4
AY 2

256 www.protec21.co.kr

rana
941

95.1



PROTEC

|06NS | 08NS [12Ns| [EEEY |20NS ) [25NS]

OIOIOIOIOIOICK -

3% 35 35 35 35 35 19
- k S
e | 10 7-M6xP1 DP12
2-959 DP4 100 141 —
2-M4xP0.7 DP6 24
L OF0 == 2-M5 (AR PORT) 68
< 4vk
) If{ hY =
js |
2x2-M5 X P0.8 DP5.5 /10 915 ©
00 2-350 DP4
2-M6xP1 DP10  ,, 2-#5° DP4 50 19
21 70 70 70 14 4 —
© wo \ M6 X P1
s © & ® o ® %I @H o g\g‘ @&
8 TO—HO 00 6@ 6 @ 8 3 : S
o] ole @] b ol M%) =
135 51|35 | 35 | 35 | 35 | 35 | 35 | 4-M4xP0.7 DP10 ©
=" 8-M5xP0.8 DP8
29 - MI10xP1 (STOPPER)
259 MAX: 10
~ 4 0$¢ hd R B o~ o
™ NI o 5
N o
10 248
260
PST16NS-125-Auto Switch
PRO-A2, PRO-B?
L 4 4 4 4 @
== i

PRECISION GUIDE CYLINDER 257

o
)
m
)
(2]
@)
=

STS-L

PSW



®» PST-NS Series

[06NS] oaNS | [12NS] [16NS ]
QOO W@ w

45 15

PST20NS-10,20,30

+002 IIEE 2-M6xP1 thru
2-95° DPS 30 | 425 -

2-M5xP0.8 DP6. 13 26.7 10 2-M5 (AR PORT)

(1)

[T}
AN
13

9, ¢

N
N os

2x2-M5xP0.8 DP12 /10| |18
%0 24.5

25 +0.02
2-M6xP1 DP13 =2~ 2-¢50 DP5 R Rl
27 50 4-M5xP0.8 DP11 12 5 oL
9
P -4 L
g @ @7 3 : - 8 E [ FH
950 40 [0 < R
1 1 )
37 45|
37 2-050"Dps _4-M5xP0.8 DP10
9% MAx:10 MI2xPL (STOPPER)
Q & 0¢¢$
E = 8
g <
13
81.5
97

PST20NS-10,20,30-Auto Switch

PRO-Al, PRO-B1

258 www.protec21.co.kr



PROTEC

|06NS | 08NS | [ 12NS | [ 16NS]
- JOIOIOIC)

PST20NS-40

55 15
, © G\
o | 3 J ‘ 12 2-M6xP1 thru
2-950 DP5 0 |45

2-M5XPO.8 DP6 13 267 10 2-M5 (AR PORT)

9
[fe)
A% 2}
T $ / —
= ,_h
s+ | ©
2x2-M5xP0.8 DP12 10| |18
25 +002 50 o5
2-M6xP1 DP13 ==~ 2-950 DP5 27 60 4-M5xP0.8 DP11 12 5 —

M6xP1

NP
28 | 28
| | »95

éfl\\ /A

38
46

914

66

O

By © do F%ﬁ

| Sy | }@qp@—e@ =y
@ : Vm @ @,:Dioo [ﬁ%

NI/
95.1

©
10 =
7 | +0.02 L w
= 2-950 DP5
106 Max:10 M12xP1 (STOPPER)
0 o oéée
< —n % _
- X
m
13
91.5 8
107 T
o
=
PST20NS-40-Auto Switch
STSL
SD
PRO-AI, PRO-BI E—

PRECISION GUIDE CYLINDER 259



®» PST-NS Serie

S

[06NS] oaNS | [12NS] [16NS ]

(0 @ @ (@ @ (o) (w () ()
Pstanss

?5.1

M6xP1

3% 35 15
yils N
g02 b /3l 12 3-M6xP1 thru
2-95'6%“DpP5 0 | 55
2-M5xP0.8 DP6 13267 2-M5 (AIR PORT)
9 10
© \
nikd 3]
2 - -
oo
2x2-M5xP0.8 DP12,/10| | 23
25 +0.02 50
2-MoxP1 DPI3 2-95° DPS 27 35 35  6-M5xP0.8 DPI1 2 5
{ -
@ G4+ 4o ﬁ( E%_} Oo[ o
A i 7] <
A5 o e @ b SR
@e~§; $0j 00 v B
1110 37,/ 3 |
37 +0.2 4-M5xP0.8 DP10
2-950 DP5
21 MAX:10 _MI2xP1 (STOPPER)
E
g © © LS ~lg
13 106.5
122

PST20NS-50-Auto Switch

PRO-A1, PRO-BI

260 www.protec21.co.kr




PROTEC

|06NS | 08NS | [ 12NS | [ 16NS]
s JOID)

| PST2ONS75

3% 3  3H 19

&
©
€

|0

"

Al e _4-M6xP1 thru
2-956"DP5 70 66.5
2-M5xP0.8 DP6 13,207 255 2-M5 (AR PORT)
5k o .-
hdl|

12
—
(g

2x2-M5xP0.8 DP12 /10| | 37

25 +0.02 50
2-M6xP1 DP13 2-950 DP5 7 ko 4-M5xP0.8 DP11 12 5 24.5

M6xP1

e Yo o g[
©—-@-© ¢
A0+ © @

3/ 35 | 35 |
205 ps 4-M5xP0.8 DP10
- )

AP
29.5
ﬁ/T\\U
95.1

[e)
©

?14

o)
O

28 | 28

1ETe)
\s 38+
58

160 MAX:10 M12xP1 (STOPPER)
& &
g 4 4 4 ~ 8
< of §
13 145.5
161

o
)
m
)
(2]
@)
=

PST20NS-75-Auto Switch

STS-L
PRO-A1, PRO-BI i)

PSW

PRECISION GUIDE CYLINDER 261



®» PST-NS Series

[06NS] oaNS | [12NS] [16NS ]

OIOIOIOIOIO) JCIC)

PST20NS-100

3% 35 35 35 37
— = = —
| A
3 I | 12 5-M6xP1 thru
2-958"DP5 100 89.5
13 267 2-M5xP0.8 DP6 30 2-M5 (AR PORT)
3 g
Lnl ~
of J'rl*
N h
)= BN=)
2x2-M5xP0.8 DP12 1o 62
25 +0.02 50
2-M6xP1 DP13 2-950"DP5 [ 7 70 6-M5xP0.8 DPL1 12

® <@ o @

<
o

o
®
$®
®
©

9.5

N
b
&

M6xP1

o

19 4| ©
.10 37/] 35 | 35 | 35| 35
37 1002
2-950°DP5
213 MAX:10 MI2xP1 (STOPPER)
d
9 S . *% 7S ~ o
0 .
< | - £ = o
3] 198.5
214

PST20NS-100-Auto Switch

PRO-A1, PRO-B1

262 www.protec21.co.kr

RIEER

&)




PROTEC

|06NS | 08NS | [ 12NS | [ 16NS]
() (0 @
| PST20NS-125

38 38 38 38 38 41

< D > € &
+0.02 * 3|12 6-M6xP1 thru
2-9507°DP5 100 1435
13 56.7 2-M5xP0.8 DP6 - 2-M5 (AR PORT)
[Te)
& = 2]
i
N h
b H o
2x2-M5xP0.8 DP12 /10 91
25 +0m2 50 24.5
M6xP1
o —
) ;,gl @ 0+ o Vo 3[ N 2 ghﬂe 0
7 3
5 s O © © © © © = PRI
&

[22) 3]
% " 5@ o+ (& [+0 E]b@
1] 10 37438 | 38 | 38 | 38 | 38
3 955 8% s ;4—M5><P0.8 DP10

267 MAX:10 _ MI2xP1 (STOPPER)
& &
§ < & @ & : L‘C;
Q=
13 252.5
268

o
)
m
)
(2]
@)
=

PST20NS-125-Auto Switch

STS-L

PRO-AI, PRO-BI PSW

PRECISION GUIDE CYLINDER 263



®» PST-NS Series

[06NS] oaNS | [12NS] [16NS ]
() (w () @

| PST20NS150

.
gl 12 _7-M6xPL thry
2-950 DPS 125 170.5
13 267 2-M5xP0.8 DP6 2-M5 (AR PORT)
3 .
° \
=ikd -
i
S r’J bu}
= o0
2%2-M5xP0.8 DP12 /10 128
25 +0.02 50 25
2-MExP1 DPI3 ===~ 2-05° DPS 27 80 80 80 8-M5xP0.8 DP1L 12 5 2 e
\$ v /:—«
o N S
® 3 > ©® 4o ed o ‘?" % > ;, N S
— oo o @ © © o s s 3E
©) &

FTQQ
= 3
58
46
<
@
I -
~
il B2
S
@
N ha
@
S
1 1D |
&
@
l _i

3 2-955°DP5 4-M5PO8 PO

M12xP1 (STOPPER)

319 MAX: 10
e
n
g © & & & @A‘,:: L%
= — ISy <t
13 3045
320

PST20NS-150-Auto Switch

PRO-A1, PRO-BI

264 www.protec21.co.kr



PROTEC
|06NS | 08NS [12Ns] [ 16NS | [20nS | EE)

QOO »WH®® W W

4B 22 ) MgxPL25 thru

& &
N H-
Hl =y
f
3 113‘30 51.5
2-268"DP6
2-M6xP1 DP6 3
ol 95 ‘ 11 2-M5 (AR PORT)
N rﬁ & A =
r oo in|
2x2-M8xP1.25 DP§ /-.115]183 2
+002 55 17 6 305
2-M8xP1.25 DP13 31 2-96 0 DP6 350 4-M6xP1 DP145 o
\ M8xP1.25
e 0¥ e N = P
o S pars s ’} & Y )
2ol 1 g 8@ %@m o !
\{ s }
@ < 7N N~
2 2G5 @ 9|@ ¥ | s
0] %
_n 4-M6xP1 DP12
4% 2-96'1"DP6
M14xP1.5 (STOPPER)
107 MAX:15
XS
5 4 -+ |
N 3
°)
15 90.5 r:lql
108
o
72
o
P
PST25NS-10,20,30-Auto Switch
STS-L
PRO-Al, PRO-B1 SD
PSW

==

PRECISION GUIDE CYLINDER 265



®» PST-NS Series

[06Ns] [osNs] [12ns] [16Ns] [2ons | B
@ @ ® ® @ @)

| PST25NS40

+0.02
2-6609 DP6
% 2 ) MgxPL25 thru
Yo &
- =
IS
4 | 515
2-MEXPL DPE o
o 95\ 11 2-M5 (AR PORT)
N ‘ |
| - 4=
r o o
2x2-MBxP1.25 DP8_/ |150183 0
+0.02
2-M8xP1.25 DP13 31 2-960 DP6 R 4-MGxPL DP14.5 Ll 305
<
Z b @F = 5 M8xP1.25
e =1 |¥ AT A = N & s 1
slel | g ® o lOHs T o
< D e M ~
& 100 ®¢ | S
1 jfL 4-M6xP1 DP10
46 2-96'1"DP6
M14xP15 (STOPPER)
117 MAX: 15
5o
5 4+ 4 4+ olgy
% Ire)
15 1005
118

PST25NS-40-Auto Switch

PRO-A1, PRO-BI

e
-
+
i}

266 www.protec21.co.kr



PROTEC
|06NS | 08NS [12Ns] [ 16NS | [20nS | EE)

(0 @ @ @ @ (o) (w () (=)
CPstasss

2-26 §“DP6 3% 3520 T MEELo
3-M8xP1.25 thru
% & —do——¢f i
| I <
!
3 18 | as
2-M6xP1 DP6 5, 11 2-M5 (AR PORT)
o] 95N
N
& (X}
SR S
T v
P o g
2x2-M8xP1.25 DP8 / [15/p1.5 1o
o
6
2-M8:P1.25 DP13 31 2-06'"DP6 3055 3| 35 4-M6xPLDPI4S L 2
\ *‘ M8xP1.25
& e . @00 ® S O®| _ 7N o § T
3 i :h<r N L] \ale! m°° B2 S [ !
ool 18 @@@yw};’ﬂzﬁg H !
@ N N~
IE ® 290 ® @ % S
i 41 4 35 | 35 4-M6xP1 DP10
i 2-96"DP6
M14xP15 (STOPPER)
130 MAX: 15
53
. ¢+ 4 ol e
N
o
O
15 1135 =
131 (@)
77
(®)
=
PST25NS-50-Auto Switch
STS-L
PRO-A1, PRO-BI SD
PSW

PRECISION GUIDE CYLINDER 267



®» PST-NS Series

[06Ns] [osNs] [12ns] [16Ns] [2ons | B

(0 (@ @ @ @ @ () () (=)
Pstasns s

2-960 DP6

35_ 35 35 26 4-M8xP1.25 thru
%o —0—60-—4&-
| <
- 31 75 70.5
2-M6xP1 DP6_ 31 18 2-M5 (AR PORT)
ol 95 k‘ A
X
N | /1 =
- —llo
L)
o
2x2-M8xP1.25 DP8 |/ [15] 37.5
+0.02 17 6 30.5
2-M8xP1.25 DP13 31 2-960 DP6 .65 _ "o e
= co R 6-M6xP1 DP14.5 o
] , : — MB8xP1.25
@Qafczﬁ ~8¢ o0 do| _ Nl = N
fo o v @ A ~ N Najp/| @ o ) e NI\ |
<[~ 8 é} @3 V @ o ;\ ) s [_/% a i
@ ¢ o1@p| 0@ @ Y I s
9 T __&m =
RN 4 [/35 | 35| 3 4-M6PL DP10
% 2-96'3"DP6
71 MAX:15 _MI4xPL5 (STOPPER)
EXS
5 4 < 4 4 g o
IS s
15 154.5
172
PST25NS-75-Auto Switch
PRO-AI1, PRO-BI
+ + + I8

268 www.protec21.co.kr




PROTEC

|06NS | 08NS [12Ns] [ 16NS | [20nS | EE)

OIOIOIOIOIO) JCIE)

2-96 0 DP6 3535 35 35 32 5-M8PL25 thru
\’ D @ D @ {/
| =
3 g 86.5
2-M6xP1 DP6
9.5\ ~31 2-M5 (AR PORT) . 39
O L f—
N
T ] 2
5 | e
I =
2x2-M8xP1.25 DP8 ‘15 53.5
+g.oz 65
2-M8PL25 DPI3 31 2-96° DP6 R 2 6-MexP1 DP145 17 6. 305
Q < S MBPLYS
\d 1 — (
g |9 ‘ ® o o ¢ eof N o N T
950 e [le e e e e b @Y
= = - - 7 s e] DT T — T
& o b fa ° D~
0@ o9 ¢ O o[¢® Y U
b 41 |/35 | 35 | 35| 35 4-MExP1 DP10
46 2-96'8%DP6
M14xP1.5 (STOPPER)
212 MAX: 15
- 5
5 o 4+ - o
8
15 195.5
213 U
X
m
)
(72}
@)
=
PST25NS-100-Auto Switch
STS-L
PRO-A1, PRO-BI SD
\ PSW

PRECISION GUIDE CYLINDER 269



®» PST-NS Series

[06Ns] [osNs] [12ns] [16Ns] [2ons | B
() (0 @

2-960 DP6 38 38 38 38 38 40 6-M8PL25 thru
P3lE 1445
2-M6PL DP6_ 5 o
o 351 2-M5 (AR PORT)
\
|c ©
= RS N S
rJ g O D —
2x2-M8xP1.25 DP3 / 15| 865

+0.02 65
MBP125DPI3 31 2-860 DP6 0 75 75 6-M6xP1 DP14.5 IV 8w 30.5
> . ) MBPL2S
5 | @ ce o o o . N N S
Tl | e e e oee-b o 0bt = Eid
————— < T= rs) —- -—- -—- o= o= %) YRl T — 1
N s o ® o~
orr P ole (@] | @ Y | S
RN s |/38 | 38 ] 38 [ 38| 38 4-MEXPL DP10
2 2-06'0"DP6
270 MAX:15 M14xP1.5 (STOPPER)
¢ ¢¢¢ ¢
N~
15 2535
271

PST25NS-125-Auto Switch

PRO-A1, PRO-BI

3%
%%

\
{ PN
Ve
1N

270 www.protec21.co.kr



PROTEC
|06NS | 08NS [12Ns] [ 16NS | [20nS | EE)

(0 @ @ @ @ () ) @) @
Pstasvs o

2-968%DP6 40 40 40 40 40 40 30

7-M8xP1.25 thru

Yo —6—0—0b 00—

-1
4

bs i 150 1345
2-M6xP1 DP6_ 3,
o 95 ‘—" 2-M5 (AR PORT) 63
N
g ST ]
— |A o
r* =
2x2-M8xP1.25 DP8 B 101.5
+8.02 80
2-M8xP1.25 DP13 31 2-06° DP6 30 0 30 6-M6xP1 DP14.5 17 _ 6 0 30.5
| L (] MBPLY
7 = |g o® ® ¢ ® ®| - A\ 5 m‘; C\
o|o © . D —@B—— — — S olo R = 1
E <™~ o @ _@ @ @_ @_ @ /,\ S /1\ ~
¢ >, °® P ol@ o [e s
1 41 /a0 | 40 | 40 | 40 | 40 | 40 4-M6¢PL DP10
% 2-96'"DPs
310 MAX:15 MI4XPL5 (STOPPER)
GRS
~ A S ¢
[T 1IN
&8
15 293.5 o
311 -
m
o
72
o
P
PST25NS-150-Auto Switch
STS-L
SD
PRO-Al, PRO-BI PSW
| .+ . . B (@]

=

i
N
vﬁ'
o

PRECISION GUIDE CYLINDER 271



B PST-NS Series

SHOCK ABSORBER Installation drawing

- PSTO8NS

] 8 2
®e ©® o® L I8
o1 \

B @ °0

* PST 12NS, 16NS, 20NS, 25NS

A w

s00 G0 © == % E

o © F=m Bl o

00 o0 o |\ t S

E

B C D E F G
PST12NS 8 40 M8 X P1 23 26.1 7.5 23
PST16NS 10 45 M10%xP1 28 33.2 10 21.5
PST20NS 12 55 M12 xP1 34 41.7 12 35.7
PST25NS 15 75 M14xP1.5 41 50.5 13.5 41.3

xFor PSTO6NS, mounting Shock Absorber is not available.

272 www.protec21.co.kr



Backward stopper Installation drawing

* PST 06NS, 08NS, 12NS, 16NS, 20NS, 25NS

PROTEC

MAX:B
e © @ [°F .
Ve @ *@ c
A B C D E F G
PSTO6NS 5 15 M5 xP0.8 14.5 5 19.5 19
PSTO8NS 8 15 M8 x P1 16.9 6.5 24 22.4
PST12NS 8 20 M8 x P1 23 7.5 27 29.5
PST16NS 10 20 M10x P1 27.5 10 31 35.5
PST20NS 12 25 M12xP1 35.7 12 41 48.7
PST25NS 15 25 M14XxP1.5 41.3 13.5 48 60.3

o
)
m
)
(2]
@)
=

STS-L

PSW

PRECISION GUIDE CYLINDER 273



